FH2M0 [JUNDXWEa] V—23vay 7 FEhaid

OH =3 2021 £ 3 A3 HUK)~3 A4 H(AKR) 9:30~17:30
OM#EFE X WEBD—2U>3wv (Zoom. Miro #F)

OWS 41 L5F—T)L

CEe T ears 8 351 %5)

. v a e [ BT R EAEK
9:30-11:30 DXA>¥7y b2+ FOrANDX: [DXORE] 1K DXORFHESEE

11:30-12:30 DX7—=277 bPart0 #>54 »Y —I{ERERS
[7=21] @H>BAT—7>84K7—2

3(4)3 CPF (Customer - Problem Fit)D : FEERHIERR
c LY F oM
13:30-17:30 DX7—277 bk Partl CHRER—V v —=—

CPF (Customer - Problem Fit)@ : SRREE{R S DIEEE & 1R3E
- HMW (How Might We);%
a7 LA YRE—

[7—2%2] BE>BAT—0>247—7
PSF (Problem - Solution Fit) : fi#iRE{IRERE DB

9:30-12:30 DX7—277 b Part 2 CABBER T [V a—ar Ry F]
o R hRS R
{251 [7—23] BE>BAT—/>247—2
1330-17:30 DX7—27% k Part3 ".S;g”l‘fb;f? b 5‘;"2'°Ei"l/&§%iﬁ?ﬁ®&ﬁf

S = a2 e o

O&ME: 164

RN

wE
]
£
samn
v
L

& o
[mae

Miro [EiE



